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  Ein  Walzwerk  für  hohen  Anpressdruck  der  Walzen  (1,  2, 
9)  weist  zu  diesem  Zwecke  eine  fluidische  Belastungseinrich- 
tung  mit  Kolben-Zylinder-Aggregaten  (7,  8)  und  einer  Druc- 
kleitung  (19)  für  das  Fluid  auf.  Um  nun  eine  druckabhängige 
Verschränkung  der  mittleren  Walze  (9)  bei  einer  derartigen 
Druckvorrichtung  (7, 8,19)  zu  erhalten, ist  zwischen  Drucklei- 
tung  (19)  und  Verstellvorrichtung  (21  bis  25,  27  bis  36)  ein 
Druckgeber  (26)  vorgesehen.  So  kann  die  Information  über 
den  Druck  an  einen Wandler (27  bis  33)  zum  Umwandeln  des 
Druckes  in  einen  Verstellweg  geführt  werden.  Vorzugsweise 
weist  wenigstens  eine  der  Watzen  (1,  2,  9)  eine  Grundbom- 
bierung  auf,  die  einem  unteren  Bereich  des  Betriebsdruckes 
entspricht. 





Die  E r f i n d u n g   b e z i e h t   s i c h   auf   e i n   W a l z w e r k   nach   dem  O b e r b e -  

g r i f f   des   A n s p r u c h e s   1 .  

W a l z w e r k e   m i t   V e r s t e l l v o r r i c h t u n g e n   zum  V e r s c h r ä n k e n   m i n d e -  

s t e n s   e i n e r   Walze   s i n d   in  d e r   L i t e r a t u r   b e r e i t s   v e r s c h i e d e n t -  

l i c h   v o r g e s c h l a g e n   w o r d e n ,   um  so  d e r   N o t w e n d i g k e i t   e i n e r   W a l -  

z e n b o m b i e r u n g   a u s z u w e i c h e n .   B e i s p i e l e   s o l c h e r   K o n s t r u k t i o n e n  

s i n d   in  den  FR-PSen   1  028  098  und  1  273  350  s o w i e   in  d e r  

US-PS  2  762  295  zu  f i n d e n .   M e i s t   w e r d e n   W a l z w e r k e   d i e s e r   A r t  

mi t   e i n e m   b e s t i m m t e n   B e t r i e b s d r u c k   b e t r i e b e n ,   d e r   e i n e r   v o r -  

b e s t i m m t e n   B o m b i e r u n g   d e r   W a l z e n   bzw.  e i n e r   v o r s t i m m t e n   V e r -  

s c h r ä n k u n g   e n t s p r i c h t .   D a h e r   w a r e n   d i e   b e k a n n t e n   W a l z w e r k e  

gemäss   den  g e n a n n t e n   L i t e r a t u r s t e l l e n   l e d i g l i c h   mi t   e i n e r  

H a n d v e r s t e l l u n g   a u s g e r ü s t e t ,   w o b e i   d e r   j e w e i l i g e   M e i s t e r   m i t  

H i l f e   e i n e s   S c h l ü s s e l s   d i e   G r ö s s e   d e r   V e r s t e l l u n g   e i n s t e l l e n  

k o n n t e .  

Dies   i s t   n a t ü r l i c h   be i   W a l z w e r k e n   u n b e q u e m ,   b e i   d e n e n   d e r  

Druck   v e r s t e l l b a r   s e i n   s o l l ,   e t w a   b e i   T e x t i l k a l a n d e r n .   D e s -  

h a l b   wurde   f ü r   e i n e   d e r a r t i g e   A n w e n d u n g   g e m ä s s   d e r   U S - P S  

3  240  148  v o r g e s c h l a g e n ,   e i n e n   D r u c k e x z e n t e r   zu r   H a n d e i n s t e l -  

l ung   des  W a l z e n d r u c k e s   mi t   e i n e m   V e r s t e l l e x z e n t e r   f ü r   d i e  

V e r s c h r ä n k u n g   auf   e i n e r   g e m e i n s a m e n   W e l l e   zu  m o n t i e r e n .   E s  



v e r s t e h t   s i c h ,   d a s s   e i n e   d e r a r t i g e   K o n s t r u k t i o n   nur   f ü r   g e -  

r i n g e   D r ü c k e   v e r w e n d b a r   i s t ,   wie   s i e   b e i   T e x t i l k a l a n d e r n   v o r -  

kommen  m ö g e n .   G e r a d e   d a n n ,   wenn  zu  R e g e l z w e c k e n ,   a b e r   a u c h  

zum  E i n s t e l l e n . a u f   das   j e w e i l i g e   P r o d u k t ,   d e r   Druck   b e i   s o l -  

c h e n   W a l z w e r k e n   v e r s t e l l t   w e r d e n   s o l l ,   w o b e i   es  um  D r ü c k e  

von  w e n i g s t e n s   m e h r e r e n   h u n d e r t   K i l o   o d e r   ga r   von  T o n n e n  

g e h t ,   i s t   d i e s e   b e k a n n t e   L ö s u n g   n i c h t   a n w e n d b a r .  

Der  E r f i n d u n g   l i e g t   d a h e r   d i e   A u f g a b e   z u g r u n d e ,   e i n e   p r a k t i -  

s c h e   L ö s u n g   f ü r   d i e   a u t o m a t i s c h e   V e r s t e l l u n g   d e r   V e r s c h r ä n -  

kung  in   A b h ä n g i g k e i t   vom  D r u c k   ( o d e r   u m g e k e h r t )   b e i   W a l z -  

w e r k e n   zu  f i n d e n ,   b e i   d e n e n   d e r   a u f   d i e   W a l z e n   a u s g e ü b t e  

D r u c k   m e h r e r e   h u n d e r t   K i l o ,   i n s b e s o n d e r e   mehr   a l s   e i n e   T o n n e ,  

z . B .   ü b e r   4t   b e t r ä g t .   D i e s e   A u f g a b e   w i r d   d u r c h   d i e   M e r k m a l e  

des   K e n n z e i c h e n s   des   H a u p t a n s p r u c h e s   g e l ö s t .   D a b e i   s i n d   z u r  

V e r w i r k l i c h u n g   d e r a r t i g e r   D r ü c k e   d i e   M e r k m a l e   des   A n s p r u -  

c h e s   2  v o r g e s e h e n .  

W e i t e r e   E i n z e l h e i t e n   d e r   E r f i n d u n g   e r g e b e n   s i c h   a n h a n d   d e r  

n a c h f o l g e n d e n   B e s c h r e i b u n g   von  in  d e r   Z e i c h n u n g   s c h e m a t i s c h  

d a r g e s t e l l t e n   A u s f ü h r u n g s b e i s p i e l e n .   Es  z e i g e n :  

F i g .   1  e i n   Schema   e i n e s   D r e i - W a l z w e r k e s   in  S e i -  

t e n a n s i c h t   g e m ä s s   e i n e r   e r s t e n   A u s f ü h r u n g ;  

F i g .   2  e i n   D i a g r a m m   zur   V e r a n s c h a u l i c h u n g   des   Z u -  

s a m m e n h a n g e s   von  B o m b i e r u n g   und  D r u c k ;  

F i g .   3  e i n e   A u s f ü h r u n g s v a r i a n t e   zu  F i g .   1;  u n d  d i e  

F i g .   4-6  w e i t e r e   V e r s t e l l m e c h a n i s m e n .  

Bei   e i n e m   D r e i - W a l z w e r k   s i n d   d i e   b e i d e n   ä u s s e r e n   W a l z e n   1,  2 

an  j e w e i l s   um  e i n e   o r t s f e s t e   A c h s e   3  bzw.  4  s c h w e n k b a r e n   Hebeln 

5  bzw.  6  in  Lagern  69,  70  g e l a g e r t .   Ueber  die  Hebel  5,  6  sind  die  b e i -  

den  ä u s s e r e n   W a l z e n   1,  2  m i t   H i l f e   von  f l u i d i s c h e n   K o l b e n -  

Z y l i n d e r - A g g r e g a t e n   7,  8  g e g e n   e i n e n   d i e   m i t t l e r e   Walze   9 

t r a g e n d e n   H e b e l   10  v e r s p a n n t .   Die  V e r b i n d u n g   z w i s c h e n   d e n  



H e b e l n   5,  6  und  10  bzw.  den  A g g r e g a t e n   7,  8  i s t   nur   s c h e -  

m a t i s c h   a l s   S t r i c h   d a r g e s t e l l t ,   doch  v e r s t e h t   es  s i c h ,   d a s s  

z w i s c h e n   den  ä u s s e r e n   H e b e l n   5,  6  und  dem  j e w e i l i g e n   K o l b e n -  

Z y l i n d e r - A g g r e g a t   7  bzw.  8  d i e   V e r b i n d u n g   ü b e r   d i e   j e w e i l i g e  

am  H e b e l   5  bzw:  6  a n g e l e n k t e   K o l b e n s t a n g e   11  bzw.  12  e r f o l g t ,  

w o g e g e n   d e r   j e w e i l i g e   Z y l i n d e r   13  bzw.  14  m i t   dem  m i t t l e r e n  

Hebe l   10  ü b e r   je   e i n e   am  H e b e l   10  a n g e l e n k t e   S t a n g e   15  b z w .  

16  v e r b u n d e n   i s t .  

Den  K o l b e n - Z y l i n d e r - A g g r e g a t e n   7,  8  w i r d   D r u c k m e d i u m ,   i n s b e -  

s o n d e r e   e i n e   D r u c k f l ü s s i g k e i t   aus  e inem  R e s e r v o i r   17  m i t   H i l -  

fe  e i n e r   Pumpe  18  z u g e f ü h r t ,   an  d i e   e i n e   D r u c k l e i t u n g   19  a n -  

g e s c h l o s s e n   i s t .   Die  D r u c k l e i t u n g   19  m ü n d e t   ü b e r   e i n e   A b -  

z w e i g l e i t u n g   20  in  den  Z y l i n d e r   13  des  A g g r e g a t e s   7  u n d  

s c h l i e s s l i c h   auch   in  den  Z y l i n d e r   14  des  A g g r e g a t e s   1 8 .  

Während   d i e   b e i d e n   ä u s s e r e n   Hebe l   5,  6  an  o r t s f e s t e n   A c h s e n   3 ,  

4  g e l a g e r t   s i n d ,   i s t   d i e   Achse   21  des  H e b e l s   10  in   v e r t i k a l e r  

R i c h t u n g   v e r s c h i e b b a r .   An  s i c h   i s t   f ü r   d i e s e   V e r t i k a l b e w e -  

gung  b e r e i t s   e i n e   g e w i s s e   F ü h r u n g   d u r c h   d i e   an  d e r   m i t t l e r e n  

Walze   9  a n l i e g e n d e n   ä u s s e r e n   Walzen   1,  2  g e g e b e n ,   doch   k a n n  

e i n e   z u s ä t z l i c h e ,   h i e r   n i c h t   d a r g e s t e l l t e   F ü h r u n g ,   z . B .   e i n e  

G e r a d f ü h r u n g   bzw.  e i n e   S c h l i t z f ü h r u n g   im  W a l z e n g e s t e l l   o d .  

d g l . ,   g e g e b e n   s e i n .   D ies   w i r d   i n s b e s o n d e r e   z w e c k m ä s s i g   s e i n ,  

wenn  d i e   b e i d e n   ä u s s e r e n   W a l z e n   1,  2  d u r c h   d i e   A g g r e g a t e   7 ,  

8  g e g e n   d i e   m i t t l e r e   Walze  9  g e p r e s s t   w e r d e n .   I s t   d a g e g e n  

e i n e   d e r   ä u s s e r e n   W a l z e n ,   z . B .   d i e   Walze   2,  o r t s f e s t   g e l a -  

g e r t ,   dann   i s t   d i e   A n o r d n u n g   e i n e r   s t r i c h l i e r t   a n g e d e u t e t e n  

F ü h r u n g s s c h w i n g e   68  k o n s t r u k t i v   e i n f a c h e r   und  g ü n s t i g e r .   D i e -  

se  F ü h r u n g s s c h w i n g e   68  s c h w i n g t   v o r z u g s w e i s e   um  e i n e   i h r  

S c h w e n k l a g e r   4  d u r c h s e t z e n d e   h o r i z o n t a l e   Ebene   73,   da  d a m i t  

d i e   A b w e i c h u n g e n   von  e i n e r   G e r a d e n   g e r i n g   b l e i b e n .   Im  P r i n -  

z ip   kann  d i e   S c h w i n g e   68  auch   an  de r   O b e r s e i t e   d e r   H e b e l   6 ,  

10  a n g e o r d n e t   s e i n ,   f a l l s   d i e   A g g r e g a t e   7,  8  an  d e r   U n t e r s e i -  

te  a n q r e i f e n ,   bzw.  kann  e in   vom  Hebe l   6  bzw.  G e s t e l l t e i l  

( f a l l s   d i e   Walze   2  o r t s f e s t   s e i n   s o l l )   u n a b h ä n g i g e s  



L a g e r   a u f w e i s e n ,   d o c h   i s t   d i e   M i t v e r w e n d u n g   des  L a g e r s   4 

e i n e r s e i t s   e i n f a c h e r ,   a n d e r s e i t s   h a t   es  s i c h   a l s   g ü n s t i g  

e r w i e s e n ,   wenn  d i e   L ä n g e   d e r .  S c h w i n g e   68  dem  A b s t a n d   z u r  

b e n a c h b a r t e n   W a l z e ,   d . h .   a l s o   e twa  dem  D u r c h m e s s e r   e i n e r  

W a l z e   e n t s p r i c h t .   Man  e r h ä l t   so  mi t   e i n f a c h e r e n   M i t t e l n  

e i n e n   E f f e k t ,   wie  e r   b e r e i t s   in  de r   FR-PS  1  273  350  b e -  

s c h r i e b e n   w u r d e .   Für   den  A n t r i e b   zu  d i e s e r   V e r t i k a l b e w e g u n g  

i s t   an  d e r   A c h s e   21  e i n e   P l e u e l s t a n g e   22  a n g e l e n k t ,   d i e   a n  

i h r e m   u n t e r e n   Ende  e i n e n   V e r s t e l l e x z e n t e r   23  u m f a s s t .   D u r c h  

d i e   V e r w e n d u n g   e i n e s   E x z e n t e r s ,   d e s s e n   B r e i t e   e n t s p r e c h e n d  

d e r   K o n s t r u k t i o n   w ä h l b a r   i s t ,   w i r d   h i e r   d e r   Druck   auf   e i n e  

v e r h ä l t n i s m ä s s i g   g r o s s e   F l ä c h e   ü b e r t r a g e n ,   so  d a s s   es  z u  

k e i n e n   a l l z u   h o h e n   F l ä c h e n p r e s s u n g e n   kommt,   wie  d i e s   b e i -  

s p i e l s w e i s e   b e i   N o c k e n   d e r   F a l l   w ä r e .  

Der  E x z e n t e r   23  s i t z t   a u f   e i n e r   o r t s f e s t   g e l a g e r t e n   W e l l e   24 

d i e   p a r a l l e l   z u r   m i t t l e r e n   Walze   9  v e r l ä u f t   und  am  g e g e n -  

ü b e r l i e g e n d e n   Ende   e i n e n   e b e n s o l c h e n   E x z e n t e r   zur   V e r s t e l l u r  

d e s   an  d i e s e r   S e i t e   v o r g e s e h e n e n   und  den  H e b e l   10  e n t s p r e -  

c h e n d e n   L a g e r h e b e l s   t r ä g t .   Die  A n o r d n u n g   i s t   j e d o c h   so  g e -  

t r o f f e n ,   d a s s   d i e   E x z e n t r i z i t ä t   de r   b e i d e n   V e r s t e l l e x z e n t e r  

in   b e k a n n t e r   W e i s e   r e l a t i v   z u e i n a n d e r   um  180°  v e r d r e h t   i s t ,  

so  d a s s   b e i   e i n e r   V e r s t e l l u n g   de r   m i t t l e r e n   Walze   9  a u f  

e i n e r   S e i t e   n a c h   o b e n   h i n ,   d i e   V e r s t e l l u n g   an  d e r   a n d e r e n  

S e i t e   n a c h   u n t e n   h i n   e r f o l g t   und  so  e i n e   V e r s c h r ä n k u n g   d e r  

m i t t l e r e n   W a l z e   9  g e g e n ü b e r   den  ä u s s e r e n   Wa lzen   1,  2  um  e i n  

d u r c h   d i e   M i t t e   i h r e r   L ä n g e   g e h e n d e   A c h s e   e r z i e l t   w i r d .  

Obwohl   es  f ü r   den  A n t r i e b   d e r   W e l l e   24  p r i n z i p i e l l   m ö g l i c h  

w ä r e ,   an  i h r   e i n   A n t r i e b s r i t z e l   v o r z u s e h e n ,   i s t   es  aus  s p ä -  

t e r   b e s c h r i e b e n e n   G r ü n d e n   v o r t e i l h a f t ,   e i n   S c h u b k u r b e l g e -  

t r i e b e   m i t   e i n e r   K u r b e l   25  v o r z u s e h e n .   Um  d i e   V e r s t e l l u n g  

z u r   V e r s c h r ä n k u n g   d e r   W a l z e   9  in  A b h ä n g i g k e i t   vom  ü b e r   d i e  

A g g r e g a t e   7,  8  g e s t e u e r t e n   A n p r e s s d r u c k   der   Wa lzen   1,  2  und  



9  zu  r e g e l n ,   i s t   in  d e r   D r u c k l e i t u n g   19  e in   e l e k t r i s c h e r  

D r u c k s e n s o r   26  v o r g e s e h e n ,   d e s s e n   A u s g a n g s s i g n a l   e i n e r   R e -  

g e l s t u f e   27  z u g e f ü h r t   w i r d ,   d i e   a u f g r u n d   e i n e s   V e r g l e i c h e s  

mi t   e i n e m ,   g e g e b e n e n f a l l s   e i n s t e l l b a r e n ,   S o l l w e r t   e i n   V e r -  

s t e l l s i g n a l   a n .  e i n e   M o t o r a n s t e u e r s t u f e   28  a b g i b t .   Der  z u -  

g e h ö r i g e   M o t o r   29  kann  e i n   b e l i e b i g e r   Motor   s e i n   ( in  w e l -  

chem  F a l l e   e i n   g e s c h l o s s e n e r   R e g e l k r e i s   f ü r   d i e   E x z e n t e r -  

v e r s t e l l u n g   z w e c k m ä s s i g   i s t ) ,   i s t   a b e r   v o r z u g s w e i s e   e i n  

S c h r i t t m o t o r ,   so  d a s s   d i e   V e r s t e l l u n g   de r   auf   d e r   d u r c h g e h e n -  

den  W e l l e   24  b e f e s t i g t e n   E x z e n t e r   23  in  A b h ä n g i g k e i t   von  d e r  

D r e h r i c h t u n g   des   M o t o r s   29  und  d e r   A n z a h l   de r   ihn  z u g e f ü h r t e n  

S c h r i t t i m p u l s e   e r f o l g t .   S o m i t   i s t   d i e   S t e l l u n g   de r   K u r b e l   25 

i n n e r h a l b   des   R e g e l s y s t e m s   s t e t s   e v i d e n t ,   ohne   d a s s   es  e i n e s  

P o s i t i o n s g e b e r s   zur   R ü c k m e l d u n g   an  d i e   R e g e l s t u f e   27  b e d ü r f -  

t e ,   f a l l s   man  e i n e n   g e s c h l o s s e n e n   R e g e l k r e i s   a n s t e l l e   e i n e r  

b l o s s e n   S t e u e r u n g   s c h a f f e n   w i l l .  

Der  L ä u f e r   des   S c h r i t t m o t o r s   29  t r ä g t   e i n e   G e w i n d e s p i n d e l   3 0 ,  

in  d i e   e i n e   S c h l o s s m u t t e r   31  v e r s c h r a u b t   i s t .   Die  S c h l o s s -  

m u t t e r   31  i s t   d u r c h   o r t s f e s t e   A x i a l f ü h r u n g e n   32  und  von  i h r  

s e i t l i c h   a b s t e h e n d e   F l ü g e l   33  an  e i n e r   D r e h u n g   g e h i n d e r t .  

Mit  d e r   S c h l o s s m u t t e r   31  i s t   e i n e   S c h u b s t a n g e   34  v e r b u n d e n ,  

d i e   ü b e r   e i n   q u e r v e r l a u f e n d e s   L a n g l o c h   35  mi t   dem  K u r b e l -  

z a p f e n   36  d e r   K u r b e l   25  v e r b u n d e n   i s t .   Es  v e r s t e h t   s i c h   a u s  

de r   s p ä t e r e n   B e s c h r e i b u n g ,   d a s s   z w i s c h e n   S c h r i t t m o t o r   29 

und  K u r b e l   25  e i n   V e r s t ä r k e r   48  b i s   52  gemäss   F i g .   3  v o r g e -  

s e h e n   s e i n   k a n n .  

In  F i g .   2  i s t   a n h a n d   e i n e s   D i a g r a m m e s   de r   Z u s a m m e n h a n g   z w i -  

s c h e n   d e r   an  s i c h   n o t w e n d i g e n   und  d u r c h   d i e   V e r s c h r ä n k u n g   zu  
e r s e t z e n d e n   B o m b i e r u n g s h ö h e   B  in  µ   zum  a n g e w a n d t e n   Druck   i n  

Tonnen   ( t o ) .   Wenn  nun  d e r   o p t i m a l e   Z u s a m m e n h a n g   s i c h   a n h a n d  

e i n e r   Kurve   37  e r g i b t ,   so  e n t s p r i c h t   d i e   V e r s t e l l u n g   de r   m i t t -  

l e r e n   Walze   9  ( F i g .   1)  d u r c h   e i n e n   wegen  s e i n e r   g ü n s t i g e n  



F l ä c h e n p r e s s u n g   b e v o r z u g t e n   V e r s t e l l e x z e n t e r   23  k e i n e s w e g s  

dem  I d e a l   d e r   Kurve   37  ( d e r   Z u s a m m e n h a n g   z w i s c h e n   B o m b i e r u n g  

und  D r u c k   i s t   n i c h t   l i n e a r ) ,   s o n d e r n   d e r   s t r i c h p u n k t i e r t   g e -  

z e i c h n e t e n   Kurve   38.  W i l l   man  d a h e r   e i n e   d e r a r t i g e   A b w e i c h u n g  

n i c h t   in  Kauf   nehmen  ( o b w o h l   d i e s   e b e n f a l l s   m ö g l i c h   w ä r e ) ,  

so  muss   f ü r   e i n e   K o m p e n s a t i o n   d e r   A b w e i c h u n g   S o r g e   g e t r a g e n  

w e r d e n .  

D i e s   k a n n   e i n e r s e i t s   d a d u r c h   e r f o l g e n ,   d a s s   in  d e r   R e g e l s t u -  

fe   27  e l e k t r o n i s c h e   K o m p e n s a t i o n s g l i e d e r   v o r g e s e h e n   s i n d ,   d i e  

b e i s p i e l s w e i s e   d u r c h   D i o d e n   o d e r   a n d e r e ,   e i n e   n i c h t - l i n e a r e  

K e n n l i n i e   b e z i t z e n d e   B a u t e i l e   g e b i l d e t   s i n d ,   wie   d i e s   in  ä h n -  

l i c h e r   W e i s e   b e i   P h o t o r e g e l k r e i s e n   ü b l i c h   i s t .   Z u s ä t z l i c h  

o d e r   a l t e r n a t i v   kann   d e r   A n t r i e b   de r   W e l l e   24  in  de r   a n h a n d  

d e r   F i g .   1  g e s c h i l d e r t e n   W e i s e   ü b e r   e i n e   S c h u b k u r b e l   25  e r -  

f o l g e n ,   d i e   g e g e n ü b e r   dem  V e r s t e l l e x z e n t e r   23  so  a n g e o r d n e t  

i s t ,   d a s s   s i c h   aus   e i n e r   l i n e a r e n   V e r s t e l l b e w e g u n g   d u r c h   d e n  

S t e l l m o t o r   29  a u f g r u n d   d e r   S i n u s b e w e g u n g   des   K u r b e l z a p f e n s  

36  an  s i c h   e i n e   V e r s t e l l u n g   e n t s p r e c h e n d   d e r   Kurve   39  d e r  

F i g .   2  e r g i b t ,   w o b e i   a u f   d i e s e   We i se   d i e   A u s b a u c h u n g   d e r  

s t r i c h p u n k t i e r t e n   K u r v e   38  im  w e s e n t l i c h e n   k o m p e n s i e r t   w i r d .  

Um  d a b e i   e i n e   J u s t i e r m ö g l i c h k e i t   zu  e r h a l t e n ,   kann   d i e   K u r -  

b e l   25  ( F i g .   1)  b e i s p i e l s w e i s e   in  i h r e r   W i n k e l l a g e   g e g e n ü b e r  

den   E x z e n t e r n   ( v g l .   23)  e i n s t e l l b a r   s e i n ,   o d e r   es  s i n d   m e h -  

r e r e   B e f e s t i g u n g s l ö c h e r   40  f ü r   den  K u r b e l z a p f e n   36  v o r g e s e h e n .  

Um  e i n   Mass  f ü r   den  in  d e r   D r u c k l e i t u n g   19  h e r r s c h e n d e n   D r u c k  

zu  e r h a l t e n ,   i s t   es  j e d o c h   n i c h t   u n b e d i n g t   e r f o r d e r l i c h ,   e n t -  

s p r e c h e n d   F i g .   1  den  D r u c k   in  e l e k t r i s c h e   S i g n a l e   u m z u s e t z e n ,  

s o n d e r n   es  kann  e n t s p r e c h e n d   F i g .   3  d i e   D r u c k l e i t u n g   19  u n -  

m i t t e l b a r   an  e i n e   V e r b i n d u n g s l e i t u n g   41  a n g e s c h l o s s e n   s e i n ,  

d i e   zu  e i n e m   W a n d l e r - A g g r e g a t   42  f ü h r t .   H i e r b e i   w i r d   e i n  

K o l b e n   43  u n m i t t e l b a r   vom  D r u c k   b e a u f s c h l a g t   und  b e w e g t   s i c h  

d e m e n t s p r e c h e n d   e n t g e g e n   dem  D r u c k e   e i n e r   F e d e r   44.  Da  d i e  



K r a f t   d e r   F e d e r   z u n i m m t ,   e r g i b t   s i c h   e i n e   S t e l l u n g   des  K o l -  

b e n s   43  j e w e i l s   d o r t ,   wo  das   G l e i c h g e w i c h t   z w i s c h e n   dem  F e -  

d e r d r u c k   d e r   F e d e r   44  und  dem  D r u c k e   aus  d e r   D r u c k l e i t u n g   19 

h e r g e s t e l l t   i s t .   A n s t e l l e   d e r   F e d e r   44  k ö n n t e   b e i s p i e l s w e i s e  

auch   e i n e   von  e i n e r   G a s m e n g e   g e b i l d e t e   F e d e r u n g ,   e i n e   m a g n e -  

t i s c h e   G e g e n k r a f t   o d . d g l .   v o r g e s e h e n   s e i n ,   doch   i s t   d i e   F e -  

de r   44  i n s o f e r n e   g ü n s t i g ,   a l s   s i e   e i n e   l i n e a r e   C h a r a k t e r i -  

s t i k   b e s i t z t   und  d a h e r   d e r   in  d e r   D r u c k l e i t u n g   19  h e r r -  

s c h e n d e   Druck   in  e i n e n   l i n e a r e n   Weg  u m g e w a n d e l t   w i r d .   Es  s e i  

j e d o c h   d a r a u f   h i n g e w i e s e n ,   d a s s   u n t e r   U m s t ä n d e n   g e r a d e   zum 

Zwecke   d e r   a n h a n d   de r   F i g .   2  b e s p r o c h e n e n   K o m p e n s a t i o n   e i n  

n i c h t - l i n e a r e s   D r u c k g l i e d   v o r g e s e h e n   w i r d .  

Der  K o l b e n   43  i s t   mi t   e i n e r   K o l b e n s t a n g e   45  v e r b u n d e n ,   d i e  

an  i h r e m   ( b e z o g e n   auf   F i g .   3)  l i n k e n   Ende  a l s   S t e u e r g l i e d  

e i n e s   an  s i c h   b e k a n n t e n   S e r v o v e r s t ä r k e r s   a u s g e b i l d e t   i s t ,  

de r   ü b e r   e i n e   L e i t u n g   46  u n m i t t e l b a r   an  d i e   D r u c k p u m p e   18  

a n g e s c h l o s s e n   i s t ,   w o g e g e n   g e g e n   d i e   D r u c k l e i t u n g   19  zu  e i n  

R e d u z i e r v e n t i l   47  z w i s c h e n g e s c h a l t e t   i s t .   Auf  d i e s e   W e i s e  

s t e u e r t   d i e   K o l b e n s t a n g e   45  m i t   S t e u e r k a n t e n   48,   49  v e r b r e i -  

t e r t e n   D u r c h m e s s e r s   den  Z u s t r o m   des   H y d r a u l i k m e d i u m s   a u s  

d e r   L e i t u n g   46  ü b e r   K a n ä l e   50,   51  zu  j e w e i l s   e i n e r   S e i t e  

e i n e s   S e r v o k o l b e n s   52,  d e r   s i c h   d a d u r c h   w i e d e r u m   g e g e n ü b e r  

d e r   K o l b e n s t a n g e   45  so  l a n g e   v e r s t e l l t ,  b i s   d i e   aus   F i g .   3 

e r s i c h t l i c h e   Lage  e r r e i c h t   i s t ,   in  d e r   b e i d e   K a n ä l e   50,  51  

g e g e n   d i e   L e i t u n g   47  h in   a b g e s c h l o s s e n   s i n d .   Die  B e w e g u n g  

des   S e r v o k o l b e n s   52  w i r d   d a n n   in  ä h n l i c h e r   W e i s e   au f   d i e  

K u r b e l   25  ü b e r t r a g e n ,   wie  d i e s   a n h a n d   de r   F i g .   1  g e z e i g t  

w u r d e .   D a b e i   i s t   z w e c k m ä s s i g   w i e d e r u m   e i n e   J u s t i e r m ö g l i c h -  
k e i t   i n n e r h a l b   e i n e s   S c h l i t z e s   74  v o r g e s e h e n .  

Im  G e g e n s a t z   zu  F i g .   1  i s t   h i e r   d i e   m i t t l e r e   Walze   9  o r t s -  
f e s t   g e l a g e r t ,   wogegen   d i e   H e b e l   5,  6  ü b e r   V e r s t e l l e x -  

z e n t e r   23  h ö h e n v e r s t e l l b a r   s i n d .   Im  P r i n z i p   wä re   e i n e   V e r -  

s t e l l u n g   d u r c h   e i n e n   e i n z i g e n   g e m e i n s a m e n   E x z e n t e r   23  m ö g -  
l i c h ,   d e r   auf   e i n e n   g e r a d e   g e f ü h r t e n   T r ä g e r   e i n w i r k t ,   d o c h  



b i e t e t   d i e   d a r g e s t e l l t e   L ö s u n g   d i e   M ö g l i c h k e i t   e i n e r   s e p a -  

r a t e n   J u s t i e r u n g   b e i d e r   H e b e l   5,  6  und  e r s p a r t   ü b e r d i e s  

d i e   a u f w e n d i g e   G e r a d f ü h r u n g .   Die  d a r g e s t e l l t e   L ö s u n g   e i g -  

n e t   s i c h   b e s o n d e r s   f ü r   F ü n f w a l z w e r k e ,   b e i   d e n e n   zu  b e i d e n  

S e i t e n   d e r   W a l z e n   1,  2  zwei   w e i t e r e   Wa lzen   a n s c h l i e s s e n .  

Für   den  V e r s t e l l a n t r i e b   s i n d   z a h l r e i c h e   v e r s c h i e d e n e   L ö s u n -  

gen  d e n k b a r ,   wie  auch   d i e   F i g .   4  und  5  v e r a n s c h a u l i c h e n .  

So  z e i g t   F i g .   4  e i n e   L ö s u n g ,   b e i   d e r   d i e   de r   S t a n g e   34  e n t -  

s p r e c h e n d e   S c h u b s t a n g e   134  a l s   Z a h n s t a n g e   a u s g e b i l d e t   i s t  

und  m i t   e i n e m   Z a h n r a d   53  an  d e r   W e l l e   54  e i n e s   A n t r i e b s e x -  

z e n t e r s   55  in  E i n g r i f f   s t e h t .   Der  A n t r i e b s e x z e n t e r   55  w i r d  

von  e i n e r   P l e u e l s t a n g e   56  u m f a s s t ,   d i e   an  i h r e m   o b e r e n   E n d e  

d i e   W e l l e   24  t r ä g t .   Die  W e l l e   24  e r h ä l t   d a b e i   i h r e n   A n t r i e b  

von  e i n e m   a u f   d e r   W e l l e   54  s i t z e n d e n   K e t t e n r a d   57,   das   ü b e r  

e i n e   K e t t e   58  m i t   e i n e m   a u f   d e r   W e l l e   24  a u f g e k e i l t e n   w e i t e -  

r en   K e t t e n r a d   59  in  V e r b i n d u n g   s t e h t .   G e g e b e n e n f a l l s   k a n n  

b e i   60  e i n e   ( n i c h t   d a r g e s t e l l t e )   S p a n n r o l l e   f ü r   d i e   K e t t e  

v o r g e s e h e n   s e i n .  

Es  i s t   e r s i c h t l i c h ,   d a s s   b e i   A n t r i e b   d e r   Z a h n s t a n g e   134  e n t -  

w e d e r   a u f   e l e k t r i s c h e m   Wege  n a c h   A r t   d e r   F i g .   1  o d e r   d u r c h  

e i n e n   f l u i d i s c h e n   A n t r i e b   g e m ä s s   F i g .   3  d i e   K u r v e n   d e r   b e i -  

den  E x z e n t e r   23,   55  e i n a n d e r   ü b e r l a g e r n ,   so  d a s s   e i n e   r e -  

s u l t i e r e n d e   Bewegung   e n t s t e h t .   Es  i s t   a b e r   e b e n s o   e r s i c h t -  

l i c h ,   d a s s   d i e   so  e r z i e l t e   K o m p e n s a t i o n   e i n f a c h e r   m i t   H i l f e  

d e r   K u r b e l   25  e r r e i c h t   w i r d .  

Es  s e i   e r w ä h n t ,   d a s s   ü b e r   S e r v o v e r s t ä r k e r   48  b i s   52  d e r   i n  

F i g .   3  g e z e i g t e n   Ar t   auch   u n m i t t e l b a r   H u b k o l b e n   an  b e i d e n  

S e i t e n   d e r   W a l z e   9  g e s t e u e r t   w e r d e n   k ö n n e n ,   w o b e i   l e d i g l i c h  

d a f ü r   S o r g e   zu  t r a g e n   i s t ,   d a s s   d i e   Bewegung   d i e s e r   K o l b e n  

an  den  b e i d e n   S e i t e n   d e r   W a l z e   9  in  e n t g e g e n g e s e t z t e r   R i c h -  

t u n g   e r f o l g t .   E i n e   s o l c h e   L ö s u n g   kann   i n s b e s o n d e r e   dann   v o n  



V o r t e i l   s e i n ,   wenn  b e i s p i e l s w e i s e   m e h r e r e   Walzen   g e g e n e i n a n -  
de r   v e r s c h r ä n k t   w e r d e n   s o l l e n ,   i n s b e s o n d e r e   in  e inem  W a l z -  

werk  mi t   m i n d e s t e n s  ' 4   W a l z e n .  

Eine   a n d e r e   L ö s u n g   f ü r   den  V e r s t e l l m e c h a n i s m u s   z e i g t   F i g .   5 ,  
b e i   de r   d e r   L a g e r h e b e l   10  f ü r   d i e   W e l l e   de r   Walze  9  ( v g l .  

F i g .   1,  3)  an  e i n e m   Rahmen  61  g e l a g e r t   i s t .   D i e s e r   Rahmen  61 

i s t   mi t   H i l f e   von  G l e i t f ü h r u n g e n   62  v e r t i k a l   v e r s c h i e b b a r  

und  b e s i t z t   an  e i n e r   S e i t e   e i n e   Z a h n s c h i e n e   63,  in  d i e   e i n  

auf   e i n e r   o r t s f e s t   g e l a g e r t e n   W e l l e   124  b e f e s t i g t e s   Z a h n r a d  

64  e i n g r e i f t .   An  d e r   a n d e r e n   S e i t e   d e r   Walze   9  i s t   d i e   A n -  

o r d n u n g   im  w e s e n t l i c h e n   g l e i c h ,   j e d o c h   mi t   dem  U n t e r s c h i e d ,  

d a s s   d o r t   das   dem  Z a h n r a d   64  e n t s p r e c h e n d e   Z a h n r a d   n i c h t   a n  

de r   r e c h t e n   S e i t e   ( b e z o g e n   auf   F i g .   5 ) ,   s o n d e r n   an  de r   l i n -  

ken  S e i t e   in  e i n e   d o r t   v o r g e s e h e n e   Z a h n s c h i e n e   des  R a h m e n s  

e i n g r e i f t .   Bei  A n t r i e b   de r   p a r a l l e l   zu r   Walze   v e r l a u f e n d e n  

W e l l e   124  b e w e g e n   s i c h   demnach   d i e   Rahmen  61  au f   b e i d e n   S e i -  

t en   in  v e r s c h i e d e n e n   R i c h t u n g e n .   Die  A n t r i e b s s t a n g e   kann  d a -  

b e i   aus   zwei   m i t e i n a n d e r   v e r b u n d e n e n   T e i l e n   234,   334  b e s t e h e n ,  

von  d e n e n   d i e   Z a h n s t a n g e   334  V e r d i c k u n g e n   65  a u f w e i s t ,   d i e  

w a h l w e i s e   in  v e r s c h i e d e n e   A u s n e h m u n g e n   d e r   S t a n g e   234  e i n -  

s e t z b a r   s i n d ,   wobe i   d i e   b e i d e n   S t a n g e n t e i l e   234 ,   334  d a n n  

m i t t e l s   B e f e s t i g u n g s s c h r a u b e n   67  v e r b u n d e n   w e r d e n .   D u r c h  

d i e s e   Ar t   de r   J u s t i e r u n g   kann  j e d o c h   n u r   d i e   Höhe  d e r   g e -  

w ü n s c h t e n   B o m b i e r u n g   e i n g e s t e l l t   w e r d e n ,   wobe i   d e r   K u r v e n -  

v e r l a u f   f ü r   d i e   V e r s t e l l c h a r a k t e r i s t i k   d e r   V e r s c h r ä n k u n g   u n -  

b e e i n f l u s s t   b l e i b t .  

Um  d i e   a n h a n d   d e r   F i g .   2  b e s c h r i e b e n e   K o m p e n s a t i o n   zu  e r z i e -  

l e n ,   i s t   es  s e l b s t v e r s t ä n d l i c h   n o t w e n d i g ,   d a s s   d e r   au f   d a s  

L a g e r   d e r   zu  v e r s c h r ä n k e n d e n   Walze   ü b e r t r a g e n e   V e r s t e l l w e g  
in  e inem  b e s t i m m t e n   V e r h ä l t n i s   zu r   A u s g l e i c h s b e w e g u n g   s t e h t .  

B e i s p i e l s w e i s e   würde   e i n   zu  g r o s s e r   Hut)  d e r   K u r b e l   25  o d e r  

des  E x z e n t e r s   55  e i n e   zu  f l a c h e ,   Idng t '   K o m p e n s a t i o n s k u r v e  

e r g e b e n .   A n d e r s e i t s   i s t   der   H ö h e n v e r s t e l l w e g   fü r   d i e   z u  



v e r s c h r ä n k e n d e   Walze   n i c h t   n u r   von  de r   A n p r e s s k r a f t ,   s o n d e r n  

a u c h   von  d e r   H e b e l l ä n g e ,   d . h .   vom  A b s t a n d   z w i s c h e n   W a l z e n -  

m i t t e l p u n k t   und  A n g r i f f s p u n k t   des   L a g e r h e b e l s   10  bzw.  5 , 6  

a b h ä n g i g ,   In  d e r   P r a x i s   e r g i b t   s i c h   e i n e   g u t e   K o m p e n s a t i o n ,  

wenn  d a s   V e r h ä l t n i s   z w i s c h e n   dem  H ö h e n v e r s t e l l w e g   des   j e -  

w e i l i g e n   L a g e r h e b e l s   10  ( F i g .   1)  bzw.  5,  6  ( F i g .   3)  z u r  

Länge   d e r   K u r b e l   25  z w i s c h e n   1 :3   und  1:5  l i e g t .  

B e k a n n t l i c h   e n t s p r i c h t   d i e   d u r c h   V e r s c h r ä n k e n   e r z i e l b a r e  

K u r v e n f c r m   n i c h t   g e n a u   den  m a t h e m a t i s c h e n   B e d i n g u n g e n   e i n e r  

B o m b i e r u n g . D i e s   mag  auch   e i n   G r u n d   d a f ü r   s e i n ,   d a s s   b i s h e r  

d i e   V e r s c h r ä n k u n g   v e r h ä l t n i s m ä s s i g   s e l t e n   und  m e i s t   nur   f ü r  

g e r i n g e   W a l z e n d r ü c k e   a n g e w e n d e t   w u r d e .   A n d e r s e i t s   l ä s s t   s i c l  

n a t ü r l i c h   e i n e   e i n e r   W a l z e   a u f g e s c h l i f f e n e   B o m b i e r u n g   n i c h t  

an  v e r s c h i e d e n e   D r ü c k e   a n p a s s e n ,   so  d a s s   b e s o n d e r s   b e i   g r o s -  

sen   V e r s t e l l b e r e i c h e n   des   D r u c k e s   e i n e   g e w i s s e   A b w e i c h u n g  

von  d e r   I d e a l f o r m   immer  in  K a u f   genommen  w e r d e n   m u s s .  

Ein  Ausweg   aus   d i e s e m   D i l e m m a   kann   nun  b e i   e i n e m   W a l z w e r k  

m i t   m i n d e s t e n s   zwei   W a l z e n   und  e i n e r   D r u c k v o r r i c h t u n g   z u r  

B e l a s t u n g   w e n i g s t e n s   e i n e r   W a l z e   g e g e n   d i e   a n d e r e   h i n ,   s o w i  

e i n e r   V e r s t e l l v o r r i c h t u n g   zum  V e r s c h r ä n k e n   d e r   W a l z e n   d a r i n  

b e s t e h e n ,   d a s s   w e n i g s t e n s   e i n e   d e r   r e l a t i v   z u e i n a n d e r   v e r -  

s c h r ä n k b a r e n   W a l z e n   1,  2,  9  z u s ä t z l i c h   e i n e   B o m b i e r u n g  

a u f w e i s t ,   d i e   e i n e m   u n t e r e n   B e r e i c h   des   B e t r i e b s d r u c k e s  

e n t s p r i c h t .   D a d u r c h   w e r d e n   a u c h   b e i   g r o s s e n   V e r s t e l l b e r e i -  

c h e n   des   D r u c k e s   d i e   F e h l e r   m i n i m i e r t ,   w e i l   f ü r   den  u n t e r e n  

D r u c k b e r e i c h   ( d . h .   d e r   B e r e i c h   u n t e r h a l b   de r   H ä l f t e ,   v o r -  

z u g s w e i s e   u n t e r h a l b   e i n e m   D r i t t e l   des   D r u c k b e r e i c h e s   b z w .  

d e r   M i n i m a l d r u c k ) e i n e   G r u n d b o m b i e r u n g   v o r g e g e b e n   i s t ,   a b  

w e l c h e r   e i n e   V e r s c h r ä n k u n g   v o r g e n o m m e n   w i r d .   D a b e i   kann  d i e  

G r u n d b o m b i e r u n g   so  a u s g e f ü h r t   s e i n ,   d a s s   de r   s i c h   b e i   V e r -  

s c h r ä n k u n g   e r g e b e n d e   m a t h e m a t i s c h e   F e h l e r   w e n i g s t e n s   t e i l -  

w e i s e   ( v o r z u g s w e i s e   e twa   z u r   H ä l f t e )   k o m p e n s i e r t   w i r d .  



Es  h a t   s i c h   g e z e i g t ,   d a s s   b e i   Anwendung   e i n e r   s o l c h e n   K o m b i -  

n a t i o n   von  G r u n d b o m b i e r u n g   und  V e r s c h r ä n k u n g   g e r a d e   b e i  

A u s f ü h r u n g e n   n a c h   den  v o r h e r   b e s c h r i e b e n e n   F i g u r e n   e i n   z u -  

s ä t z l i c h e r   V o r t e i l   e r z i e l t   w i r d .   Durch   R e i b u n g s e i n f l ü s s e  

kann  s i c h   n ä m l i c h   e i n e   u n e r w ü n s c h t e   H y s t e r e s e   e r g e b e n ,   d i e  

umso  g r ö s s e r   i s t ,   je  g e r i n g e r   d e r   d i e   Walzen   1,  2  und  9  b e -  

l a s t e n d e ,   d i e   R e i b u n g   a l l e n f a l l s   ü b e r w i n d e n d e   D r u c k   i s t .   D e r  

d u r c h   d i e s e   H y s t e r e s e   e n t s t e h e n d e   F e h l e r   kann  s o g a r   w e s e n t -  

l i c h   g r ö s s e r   a l s   de r   oben   e r w ä h n t e   m a t h e m a t i s c h e   F e h l e r   s e i n .  

D a d u r c h   a b e r ,   d a s s   z u s ä t z l i c h   z u r   v o r g e n o m m e n e n   V e r s c h r ä n -  

kung  e i n e   G r u n d b o m b i e r u n g   g e g e b e n   i s t ,   d i e   dem  u n t e r e n   D r u c k -  

b e r e i c h   e n t s p r i c h t ,   w i r d   g e r a d e   in  j e n e m   B e r e i c h   d e r   H y s t e -  

r e s e f e h l e r   v e r m i e d e n ,   in  dem  er  an  s i c h   am  g r ö s s t e n   w ä r e .  

Die  e r w ä h n t e   G r u n d b o m b i e r u n g   kann   an  w e n i g s t e n s   e i n e r   d e r  

Walzen   1,  2  und  9  v o r g e s e h e n   s e i n ,   i s t   a b e r   b e v o r z u g t   z u -  

m i n d e s t   an  j e n e r   Walze  v o r h a n d e n ,   d i e   zu r   V e r s c h r ä n k u n g  

v e r s t e l l t   w i r d ,   d . h .   im  F a l l e   d e r   F i g .   1  an  d e r   W a l z e   9 ,  

im  F a l l e   d e r   F i g .   3  an  den  W a l z e n   1  und  2,  i n s b e s o n d e r e   d a n n ,  

wenn  es  s i c h   in  d e r   b e s c h r i e b e n e n   W e i s e   um  e i n   F ü n f - W a l z -  

werk  h a n d e l t .   Z w e c k m ä s s i g   b e s i t z e n   a b e r   a l l e   W a l z e n   d i e   e r -  

w ä h n t e   G r u n d b o m b i e r u n g ,   d i e   s e l b s t v e r s t ä n d l i c h   n i c h t   a n  

a l l e n   W a l z e n   g l e i c h   s e i n   muss  und  s i c h   i n s b e s o n d e r e   an  d e n  

m i t t l e r e n   W a l z e n   von  de r   B o m b i e r u n g   d e r   R a n d w a l z e n   u n t e r -  

s c h e i d e t .  

In  e i n e r   p r a k t i s c h e n   A u s f ü h r u n g   kann   b e i s p i e l s w e i s e   d e r   V e r -  

s t e l l b e r e i c h   des   D r u c k e s   e i n   V e r h ä l t n i s   von  1:6  z w i s c h e n  

M i n i m a l -   und  M a x i m a l d r u c k   a u f w e i s e n .   Wenn  man  d a v o n   a u s -  

g e h t ,   d a s s   d e r   M i n i m a l d r u c k   1  b e t r ä g t ,   so  i s t   d i e   G r u n d b o m -  

b i e r u n g   f ü r   e i n e n   Druck  von  h ö c h s t e n s   3  zu  b e r e c h n e n ,   w o b e i  

de r   f ü r   d i e   B e r e c h n u n g   g e w ä h l t e   D r u c k   in  d e r   P r a x i s   w e s e n t -  

l i c h   d a r u n t e r   l i e g e n   w i r d .   So  l i e g t   d e r   fü r   d i e   B e r e c h n u n g  

m a s s g e b e n d e   Druck   b e i s p i e l s w e i s e   be i   1,5  b i s   2,  k a n n   a b e r  

auch  mit   1  g e w ä h l t   w e r d e n .  



Es  v e r s t e h t   s i c h ,   d a s s   d i e   V e r w e n d u n g   e i n e r   G r u n d b o m b i e r u n g  

z u s ä t z l i c h   z u r   V e r s c h r ä n k u n g   u n a b h ä n g i g   d a v o n   i s t ,   ob  im 

S i n n e   d e r   o b i g e n   B e s c h r e i b u n g   d e r   h y d r a u l i s c h e   Druck   i n  

e i n e n   V e r s t e l l w e g   f ü r   d i e   V e r s c h r ä n k u n g   u m g e w a n d e l t   w i r d .   So  

i s t   e i n e   G r u n d b o m b i e r u n g   auch   dann   von  V o r t e i l ,   wenn  e i n e  

r e i c h   m e c h a n i s c h e   V e r s c h r ä n k u n g   n a c h   dem  b e s c h r i e b e n e n  

S t a n d e   d e r   T e c h n i k   a n g e w a n d t   w i r d .  

Anhand   d e r   F i g .   6  s e i   v e r a n s c h a u l i c h t ,   d a s s   zur   E i n s t e l l u n g  

d e r   g e g e n s e i t i g e n   V e r s c h r ä n k u n g   d e r   Walze   9  g e g e n ü b e r   d e n  

o r t s f e s t e n   W a l z e n   1,  2  n i c h t   nu r   e i n e   b l o s s e   S t e u e r u n g ,   s o n -  

d e r n   a u c h   e i n   g e s c h l o s s e n e r   R e g e l k r e i s   e i n g e s e t z t   w e r d e n  

k a n n .   D a b e i   t r a g e n   T e i l e   g l e i c h e r   F u n k t i o n   d i e   s e l b e n   B e -  

z u g s z e i c h e n   w ie   in   den  v o r h e r   b e s c h r i e b e n e n   F i g u r e n ,   a l l e n -  

f a l l s   v e r s e h e n   m i t   e i n e r   1 0 0 e r   Z i f f e r .   Gemäss   F i g .   6  i s t   e i n  

in  den  G l e i t f ü h r u n g e n   75  in  v e r t i k a l e r   R i c h t u n g   ( b e z o g e n   a u f  

F i g .   6)  v e r s c h i e b b a r e r   T r ä g e r   110  an  e i n e r   K o l b e n s t a n g e   1 4 5  

e i n e s   h y d r a u l i s c h e n   H e b e a g g r e g a t e s   142  g e l a g e r t .   Das  A g g r e -  

g a t   142  i s t   ü b e r   e i n e   L e i t u n g   146  m i t   d e r   Pumpe  18  v e r b u n -  

d e n .   I n n e r h a l b   d e r   L e i t u n g   146  b e f i n d e t   s i c h   e i n   e l e k t r i s c h  

s t e u e r b a r e s   M a g n e t v e n t i l   150,   das   den  Z u s t r o m   h y d r a u l i s c h e n  

F l u i d s   zum  A g g r e g a t   142  r e g e l t .  

Mi t   dem  T r ä g e r   110  d e r   Wa lze   9  i s t   e i n   P o s i t i o n s g e b e r   76  

v e r b u n d e n ,   d e r   an  s i c h   b e l i e b i g   a u f g e b a u t   s e i n   k a n n ,   in  d e r  

d a r g e s t e l l t e n   A n o r d n u n g   j e d o c h   zwe i   o r t s f e s t e   ( b e i s p i e l s -  
w e i s e   m i t   dem  A g g r e g a t   142  v e r b u n d e n e )   K o n d e n s a t o r p l a t t e n   77 

a u f w e i s t ,   z w i s c h e n   d i e   e i n e   m i t   dem  T r ä g e r   110  v e r b u n d e n e  

I s o l i e r p l a t t e   78  e i n t a u c h t .   In  A b h ä n g i g k e i t   von  d e r   t a t s ä c h -  

l i c h e n   P o s i t i o n   des   T r ä g e r s   110  e r g i b t   s i c h   s o m i t   e i n   e n t -  

s p r e c h e n d   u n t e r s c h i e d l i c h e s   S i g n a l   am  A u s g a n g e   des   P o s i -  

t i o n s g e b e r s   76,  w e l c h e s   A u s g a n g s s i g n a l   e i n e m   R e g e l k r e i s   79 

i a f ü h r b a r   i s t .  

Der  R e g e l k r e i s   79  s t e l l t   a b e r   nur   e i n e n   T e i l   des   R e g e l s y s -  
t e m e s   d a r ,   zu  dem  e i n   z w e i t e r   R e g l e r   179  g e h ö r t .   Es  v e r s t e h t  



s i c h ,   d a s s   b e i d e   R e g e l k r e i s e   79,  179  g e g e b e n e n f a l l s   zu  e i n e r  

B a u e i n h e i t   z u s a m m e n g e f a s s t   s e i n   k ö n n e n .   Da  de r   R e g e l k r e i s  

179  mi t   e i n e r ,   z .B .   von  e i n e m   T a s t e n g e r ä t ,   g e b i l d e t e n   S o l l -  

w e r t - E i n g a b e e i n r i c h t u n g   81  v e r b u n d e n   i s t ,   i s t   z w e c k m ä s s i g  

e i n e   V e r b i n d u n g s l e i t u n g   82  zum  R e g e l k r e i s   79  v o r g e s e h e n ,   um 

d i e s e m   e i n   e n t s p r e c h e n d e s   S i g n a l   zu  ü b e r m i t t e l n .   G e g e -  

b e n e n f a l l s   i s t   d i e s e   V e r b i n d u n g s l e i t u n g   82  a l s   D a t e n b u s  

a u s g e b i l d e t ,   ü b e r   den  auch   e i n e   a l l f ä l l i g e   R ü c k m e l d u n g   vom 

R e g e l k r e i s   79  an  den  R e g l e r   179  e r f o l g e n   k a n n .  

J e d e n f a l l s   a b e r   w i r d   am  A u s g a n g e   des   R e g e l k r e i s e s   79  e i n  

R e g e l s i g n a l   f ü r   den  M a g n e t e n   80  des   M a g n e t v e n t i l e s   150  e r -  

z e u g t ,   das   ü b e r   e i n   P r o p o r t i o n a l g l i e d   P  auch  dem  M a g n e t e n   83 

des   i n . d e r   L e i t u n g   19  v o r g e s e h e n e n   s t e u e r b a r e n   V e n t i l e s   147  

g e g e b e n e n f a l l s   z u f ü h r b a r   i s t .   Es  kann  j e d o c h   auch   h i e r   e i n  

e i n f a c h e s   V e n t i l   47  g e m ä s s   F i g .   3  v o r g e s e h e n   s e i n ,   d e s s e n  

E i n s t e l l u n g   d u r c h   e i n e   E i n g a b e v o r r i c h t u n g   181  b e l i e b i g e r   A r t  

b e s t i m m t   w i r d .   Der  M a g n e t   83  i s t   m i t   dem  R e g l e r   179  v e r -  

b u n d e n ,   d e r   ihn   a u f g r u n d   des   e r h a l t e n e n   S o l l w e r t - S i g n a l e s  

aus  d e r   E i n g a b e e i n r i c h t u n g   81  e i n e r s e i t s   bzw.  a u f g r u n d   d e s  

S i g n a l e s   e i n e s   D r u c k m e l d e r s   126  a n d e r s e i t s   mi t   e i n e r   S p a n -  

n u n g s q u e l l e   v e r b i n d e t .  

Im  ü b r i g e n   k ö n n e n   d i e   V e r s t e l l w e g e   f ü r   d i e   V e r s c h r ä n k u n g  

der   W a l z e n a c h s e n   s e l b s t v e r s t ä n d l i c h   d a d u r c h   h a l b i e r t   w e r d e n ,  

d a s s   zwei   e i n a n d e r   b e n a c h b a r t e   W a l z e n   g e g e n s i n n i g   v e r s t e l l t  

w e r d e n .  



1.  W a l z w e r k   m i t   m i n d e s t e n s   zwei   W a l z e n   und  e i n e r  

D r u c k v o r r i c h t u n g   zu r   B e l a s t u n g   w e n i g s t e n s   e i n e r   Wa lze   g e g e n  

d i e   a n d e r e   h i n ,   s o w i e   e i n e r   m i t   d e r   D r u c k v o r r i c h t u n g   v e r b u n -  

d e n e n   V e r s t e l l v o r r i c h t u n g   zum  V e r s c h r ä n k e n   d e r   W a l z e n   in  A b -  

h ä n g i g k e i t   von  D r u c k ,  

d a d u r c h   g e k e n n z e i c h n e t ,   d a s s  

-  b e s o n d e r s   z u r   B e a r b e i t u n g   d u r c h   Z e r k l e i n e r u n g   und  H o m o g e -  

n i s i e r u n g   von  z ä h f l ü s s i g e m   Gu t ,   i n s b e s o n d e r e   von  S c h o k o l a -  

d e n m a s s e n ,   D r u c k f a r b e n   u . d g l .  -   d i e   D r u c k v o r r i c h t u n g   (1,  8 ,  

19)  in   an  s i c h   b e k a n n t e r   W e i s e   a l s   f l u i d i s c h e   B e l a s t u n g s e i n -  

r i c h t u n g   m i t   K o l b e n ,   Z y l i n d e r   (13,   14)  und  D r u c k l e i t u n g   ( 1 9 )  

f ü r   das   F l u i d   a u s g e b i l d e t   i s t ,   d a s s   z w i s c h e n   D r u c k l e i t u n g  

(19)  und  V e r s t e l l v o r r i c h t u n g   ( 2 1 - 2 5 ;   2 7 - 3 6 ;   4 2 - 5 2 )   e i n  

D r u c k g e b e r   (26;   41)  l i e g t ,   und  d a s s   d i e   V e r s t e l l v o r r i c h t u n g  

( 2 1 - 2 5 ;   2 7 - 3 6 ;   4 2 - 5 2 )   e i n   W a n d l e r   ( 2 7 - 3 3 ;   42)  zum  U m w a n d e l n  

des   D r u c k e s   in   e i n e n   V e r s t e l l w e g   a u f w e i s t .  

2.  W a l z w e r k   n a c h   A n s p r u c h   1,  d a d u r c h   g e k e n n z e i c h -  

n e t ,   d a s s   d i e   D r u c k v o r r i c h t u n g   (7,  8,  19)  in  an  s i c h   b e k a n n -  

t e r   W e i s e   a l s   h y d r a u l i s c h e   B e l a s t u n g s e i n r i c h t u n g   a u s g e b i l d e t  

i s t .  

3.  W a l z w e r k   n a c h   A n s p r u c h   1  o d e r   2,  d a d u r c h  

g e k e n n z e i c h n e t ,   d a s s   z w i s c h e n   D r u c k l e i t u n g   (19)  und  V e r s t e l l -  

v o r r i c h t u n g   ( 4 2 - 5 2 )   e i n e   V e r b i n d u n g s l e i t u n g   (41)  zu  e i n e m  

d u r c h   den   D r u c k   g e g e n   e i n e   b e i   V e r s c h i e b u n g   z u n e h m e n d e   L a s t ,  

v o r z u g s w e i s e   g e g e n   e i n e   F e d e r   ( 4 4 ) ,   s i c h   b e w e g e n d e n   K o l b e n  

(43)  g e f ü h r t   i s t ,   d e s s e n   K o l b e n s t a n g e   (45)  mi t   e i n e m   V e r s t e l l -  

m e c h a n i s m u s   ( 2 1 - 2 5 )   v e r b u n d e n   i s t ,  



und  d a s s   z w e c k m ä s s i g   d i e   K o l b e n s t a n g e   (45)  ü b e r   e i n e n   a n  

s i c h   b e k a n n t e n   S e r v o v e r s t ä r k e r   ( 4 8 - 5 2 )   m i t   dem  V e r s t e l l m e -  

c h a n i s m u s   ( 2 1 - 2 5 )   v e r b u n d e n   i s t ,  

u n d / o d e r  

d e r   V e r s t e l l m e c h a n i s m u s   ( 2 1 - 2 5 )   in  an  s i c h   b e k a n n t e r   W e i s e  

an  j e d e r   S e i t e   d e r   zu  v e r s c h r ä n k e n d e n   Walze   (9)  e i n e n  

V e r s t e l l e x z e n t e r   (23)  a u f w e i s t ,   und  d a s s ,   z . B .   z w i s c h e n  

K o l b e n s t a n g e   und  V e r s t e l l e x z e n t e r ,   e i n e   K o m p e n s a t i o n s -  

e i n r i c h t u n g   (25;  27)  zur   A n p a s s u n g   d e r   V e r s t e l l c h a r a k t e r i -  

s t i k   v o r g e s e h e n   i s t ,  

w o b e i   b e v o r z u g t   d i e   K o m p e n s a t i o n s e i n r i c h t u n g   e i n   um  e i n e  

D r e h a c h s e   s c h w e n k b a r e s   A n t r i e b s g l i e d ,   v o r z u g s w e i s e   e i n e  

S c h u b k u r b e l   ( 2 5 ) ,   a u f w e i s t .  

4.  W a l z w e r k   nach   A n s p r u c h   3,  d a d u r c h   g e k e n n z e i c h -  

n e t ,   d a s s   e i n e   J u s t i e r a n o r d n u n g   (40)  zum  E i n s t e l l e n   d e r   Kom- 

p e n s a t i o n s e i n r i c h t u n g   r e l a t i v   zum  V e r s t e l l e x z e n t e r   (23)  v o r -  

g e s e h e n   i s t .  

5.  W a l z w e r k   n a c h   e i n e m   d e r   A n s p r ü c h e   1  b i s   4 ,  

d a d u r c h   g e k e n n z e i c h n e t ,   d a s s   b e i   m i n d e s t e n s   d r e i   Wa lzen   ( 1 ,  

2,  9)  d i e   V e r s t e l l v o r r i c h t u n g   ( 2 1 - 2 5 ;   2 7 - 3 6 ;   4 2 - 5 2 )   m i t  

e i n e r   z w i s c h e n   zwei   a n d e r e n   W a l z e n   (1,  2)  a n g e o r d n e t e n   W a l z e  

(9)  v e r b u n d e n   i s t .  

6.  W a l z w e r k   nach   e i n e m   d e r   A n s p r ü c h e   1  b i s   5 ,  

d a d u r c h   g e k e n n z e i c h n e t ,   d a s s   f ü r   d i e   v e r s t e l l b a r e   Walze  e i n e  

G e r a d f ü h r u n g   (75;  175)  v o r g e s e h e n   i s t .  

7.  W a l z w e r k   nach   e i n e m   d e r   A n s p r ü c h e   1  b i s   6 ,  

d a d u r c h   g e k e n n z e i c h n e t ,   d a s s   f ü r   w e n i g s t e n s   e i n e   r e l a t i v   z u r  

b e n a c h b a r t e n   (2)  v e r s t e l l b a r e   Walze   (9)  e i n e   F ü h r u n g s -  

s c h w i n g e   (68)  v o r g e s e h e n   i s t   ( F i g .   1 ) ,   u n d  

d a s s   v o r z u g s w e i s e   das   f r e i e   Ende  d e r   F ü h r u n g s s c h w i n g e   ( 6 8 )  

am  S c h w e n k l a g e r   (3,  4)  e i n e s   H e b e l s   (5,  6)  a n g e l e n k t   i s t ,  

d e r   das   W a l z e n l a g e r   (69,   70)  t r ä g t  



u n d / o d e r   d i e   F ü h r u n g s s c h w i n g e   (68)  um  e i n e   i h r   S c h w e n k l a g e r  

(4)  d u r c h s e t z e n d e ,   e twa   n o r m a l   z u r   V e r s t e l l e i n r i c h t u n g   v e r -  

l a u f e n d e   E b e n e   (73)  s c h w e n k b a r   i s t .  

8.  W a l z w e r k   n a c h   A n s p r u c h   7,  d a d u r c h   g e k e n n z e i c h -  

n e t ,   d a s s   d i e   F ü h r u n g s s c h w i n g e   (68)  um  e i n   o r t s f e s t e s   L a g e r  

f ü r   e i n e ,   v o r z u g s w e i s e   b e n a c h b a r t e ,   Walze   ( 2 ) ,   i n s b e s o n d e r e  

um  das   o r t s f e s t e   L a g e r   (14)  e i n e s   d i e s e   Walze  l a g e r n d e n   H e -  

b e l s ,   s c h w e n k b a r   i s t .  

9.  W a l z w e r k   m i t   m i n d e s t e n s   zwei   Walzen   und  e i n e r  

D r u c k v o r r i c h t u n g   z u r   B e l a s t u n g   w e n i g s t e n s   e i n e r   Walze   g e g e n  

d i e   a n d e r e   h i n ,   s o w i e   e i n e r   V e r s t e l l v o r r i c h t u n g   zum  V e r -  

s c h r ä n k e n   d e r   W a l z e n ,   i n s b e s o n d e r e   n a c h   e inem  d e r   A n s p r ü c h e  

1  b i s   8,  d a d u r c h   g e k e n n z e i c h n e t ,   d a s s   w e n i g s t e n s   e i n e   d e r  

r e l a t i v   z u e i n a n d e r   v e r s c h r ä n k b a r e n   W a l z e n   ( 1 , 2 , 9 )   z u s ä t z l i c h  

e i n e   B o m b i e r u n g   a u f w e i s t ,   d i e   e i n e m   u n t e r e n   B e r e i c h   des   B e -  

t r i e b s d r u c k e s   e n t s p r i c h t .  

10.  W a l z w e r k   n a c h   A n s p r u c h   9,  d a d u r c h   g e k e n n z e i c h -  

n e t ,   d a s s   w e n i g s t e n s   d i e   v e r s t e l l b a r e   Walze   (9,  1,  2)  e i n e  

s o l c h e   B o m b i e r u n g   a u f w e i s t ,   v o r z u g s w e i s e   a l l e   W a l z e n   (1,  2 ,  

9 ) ,   u n d / o d e r   d a s s   d i e   B o m b i e r u n g   w e n i g s t e n s   a n n ä h e r n d   d e m  

M i n i m a l d r u c k   e n t s p r i c h t .  
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